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7 Understand Houw Percents and Ratios are Related and Can Use Percents to Soive Real-iorid Problems.”
Section d8
AL: What is 8% bf 552 A2{17 15)34% of what number? A3: 12 i what f 157
b/ Vo | T2 Wk OF ]34 i 12000): 52807
OJ?/I;)\nD\.QR\UD ,(98}(/5/5 5 a oo 15 1100 2
e )34 2 50 or 5708 8%
n ? : \'\(\OO : o ; ¥ L
£5 |00 e ol of whole 15 P
Ay %,fwb\o‘m\s?wt ,n.\S'_:\.’L
n=4.4 a4 n:;o\ n=080,30%
r\_:

A4: Mrs. Bennett has graded 20% of her students’ papers. If
she graded 30 papers, how many total papers did she have
to grade? 7 Lﬂl ot

20126 35(00)=26=150
n | (00

£
20070‘\"1:30

My g (8 \50
AS5: After a group of 24 parts were tested, 5 were found
defective. About what percent of the parts were defective?

: sl SRS 21
;%h—ou 5(100)

o 5 g
%: O\ggga: 20.83% ~2|%
g

070n° Q\L}:S_

Fe A B = 2R 7o~ 1%

B4: Angel is shooting baskets and makes 40% of the 15
shots he takes. How many did he make?

N 4o 4o (15) 2100 = b baskeke,
15 (wo

e
L’\OOYO O‘c C 5 12
L) n
4 = L basXets
B5: According to the school survey, 12% of the students at
Rockwell Junior High School speekSpanish.'l’hereareSGk
Pt

students at the school who speak Spanish. How many
students were surveyed? )

5@% 3, (100) =127 300
n |loo ;

o il
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9 » Can goive Reat-World Problemns by Applying Percents to Calculate Tax and Discount.

-Section d
Al: Tommy and his wife went to the store and bought A2: Troy wants to buy a jersey of his favorite team. The
grocerlw.'lheirsubtotalwas$143.50.lfthe sales tax was jerseyis30%oﬁ'theoﬂginalpﬂceof$35.Whatbthesale
8%, what was the total amount they paid for groceries? price?
s -3(35)z10.50 i
: by :H,uhl%,s’() 0,303
143,50 () 54,97 LR s o

¢ =BX
M%.so(\.og\ ¥54.48 | RANE &

A3: Two different stores have the same TV on sale. The original price of the TV in both stores is $850.

Best Buyer: The TV is 35% off the original price ; :
JP Electronics: The TV is 20% off the original price but you can take an additional 15% off

Which store offers the better deal?

M 7.P Eleckromes
tg50 (35) = 29750 350 (:20) =110
250~ 2371-50 ¥551.50 $50- 10 L8O
| (30018 )5 [20e
190 - 102 4 T

Betrer Deall
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Unit D Ratio, Rates and Percents Name _ﬁ%________

Unit Review Packet

Directions: Do ALL (A) Questions. Check Your Answers to (A) Questions. If ALL (A) Questions are correct, skip (B) Questions and

move onto next “I can” statement. If you get any (A) Questions wrong, MAKE CORRECTIONS and do ALL (B) Questions.
Section di «} Can Write a Ratio Comparing Two Quantities Given a Real-World Gituation.”

Write each ratio for the given situation.

At the local market there were 12 apples, 15 oranges, and 20 bananas in the large fruit bésket.

Al: oranges to apples A2: apples to total fruit A3: bananas to apples and

s R, g 2y 1|7 | orang bined
LV ST (2497 or g \LBAT) 80 i 12) =

1D} ¥4

Bethany made 14 out of 20 baskets in her basketball game.

B2: misses to total shots B3: total shots to makes B4: total shots to misses

kw0 = 9410 20:1H= 10T

Pt L
=
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Section d3 4 Can Generate Equivalent Ratios and Detertnine if Ratios are Equivalent.”

Al: FFne e, o = A2: Do the following Bl:
Shltsblias fractions form a proportion?

A3: An animal shelter has 36 kittens and 12 puppies. Beth  B3: Benny can stack 42 cups in 24 seconds. Does thls .

says that the ratio of W Is she mean he can stack 70 cups in 40 seconds?
correct?
< 1 :
ves d2) o W2 %-

Kittes 3o | 3 T :
_l_ Sl s
pupp)c:) i |- |2_-,'-l2 | g 14 L‘O

ljeﬁ

B2: Do the following
fractions form a proportion?

16 10
e an —
3

(=9

iR}
5 u\co
A

j\{,

T A T

ne
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Section d4 4 can Apply the Concept of Generating Equivalent Ritios to Solve Realjorid Probems."
55 -0

Al: The f books)to|magazines at Jess's house J5):[3] | A3: In a recent survey( 3jout of 8 people preferred the
\Zi at Jess's ogurt over the strawberry yogurt. If there were a
total of 120 people surveyed, how many liked the vanilla

A2: The ratio of green pepper plants A4: Jeremy has a piggy bank with 126 coins in it. If the
Joe's garden is(2):17] If Joe has 20 more red pepper plants | ratio of quarters to dimes to pennies is 5 : 3 : 6, how many
than green pepper plants, how many of each does he have? | of each type of coin does -\:Ijmy have? D

- +o

s 1
%uo.»(-\-ws 5 Y\’)_
A R
R

: . b1,
2% 9 20 ywore \H\Meb ci:l:‘f 0 P e 21

? pennies o) N = 54
____C green pepper plants _\_DJm\ R R YA
red pepper plants
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eeyon %%an Calculate Unit Rate and Unit Price and Compare their Values to Interpret Real-World Situations.

Al: The Reyes family bought four concert tickets for $252. Bl: A Ruby Throated Hummingbird beats its wings 159
What was the price per ticket? times in 3 seconds. How many times does it beat its wings
T per second?

v V4

-}\;ke*s% s ) becu% gﬁi_?f n= 5% ba&'\'s per 5€COV‘CL
U sel

o AT : \
o)+ ALY ket

A2: Alana biked 12 miles in 48 minutes. What is Alana’s B2: Theo's mom bought an eight pack of juice at the store
speed in miles per minute? for $4. Find the unit price for the juice boxes.

l «
| ey ) \ e 50
: l s N Z uyb@ ix(—’ —-5- ﬂ). -
wilés IZ__\__ﬂ r\w.25 oy mt\*,‘_qz((ﬁ\' J $ g N -\7‘9(3“‘“

. Lj\ ?C"E)‘\ i ; :
| QR
B.5 T\t

A3: Potatoes are on sale at two local grocery stores. At B3: Jill filled up her car with 15 gallons of gas for $43.35.

Gi - f .58.

Grocery M o 8 10 g o potates ot o420, gt e haertisel ingass e S

Which store has the better buy? | bs= Pound s i : : 4z

% + | gak 15 || g ' dheager
me gc‘u\s o \\%&:}AW e $H3.35‘ n $uRn £ '
§ 2mn ¥ 490 N r\:‘SlW/ﬁa«Q' n= 32.8
n= S5 n=,LA L0, Jil &

Better Buy: Baldwin Hills Market Better Deal: ~ Jill
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Section d6 4 can golveReal-Worid Problems by Comparing Rates, Prices, and Units of Measurefnent.®

Al: The Millers drove 105 miles on 4 gallons of gas. At this B1: While resting, a human takes in abo ofairm
rate, how many miles can they drive on 6 gallons of gas? 30 seconds) At this rate, how many liters of air does he take
in during| 150 seconds

A5y
mi ks 1052 n m,\?ﬁ’,()ﬁ‘_{ﬂ N i 25_1#r
; b irerd
gol O [ 44 g“*Q it ceeonds 30 150 4
i s ()=
L2d=15 1575 e\

10515) = 15T Tmiles

A2: If 15 baseballs weigh 75 ounces, how many baseballs B2: If you drive your car at a constant speed 0

wElgh, lsrou‘r_l\ces? "hour) how long will it take for you to trave &
E Ty ' s
\sasc\oa\\s\b_ n\" B b&sekm\\s ‘5 '“‘le5 [15 37? - g"" A
0. _|5 L\5 0% 15 ',5‘ hf. | t N 4 14 1
%E—_JB baseballs 5(15) =153 e g;m\r; = Thes "2\4'\ ;
0.4 of LOmin = ’O.k\(lgD\) b S

A3: John played soccer for 60 minutes over 5 days. At this  B3: If Jeremy can hop 9 feet in 2 hops. How many hops will
rate, how many minutes would John play soccer for in 1 it take Jeremy to hop/20 yards?

wel! N ek =V oy

m.\l\ ‘lo—o"k_n’ n= ?4 mn,
datgglp s Pl
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Sect|on d7 "1can SONeWalwortd Prt:}blems bYComparlng'RaﬁeS \Prlwc , and UnMOFMeasuremelm- e
n % h z_ooo n cm 100 [ N
' 102 in A2 4ton—_%ﬁaalbs 500 cm S R T A5L= 4500 mL

Al: 3yd=

Km \8 em | b ‘_L\,ﬂ e
i A oz T6lH% -

M _ZD.D_D.m A6M9000mm- 90 AT: 48\(()‘?2: % b Augsmuo 84 z:yds

al |
H‘ b e TH’H
A9 5 gal = 90 qt  alor 1pt=A le foe Al 12 upei= S 5 qt A 64pt-

ICup 8oz
Pt = 2.cups

A13: Convert 25 pounds to kilograms. B13: Convert 10 inches to centimeters.

Wb = 0454 Xilo §rama

" ﬂg EAL.
45"4 n \\ 3549 )

Al4: :

Part A: Part B: g v

Jill and Erika make 4 gallons of lemonade for their If they charge $2.00 pe:
will they be able to sell? make if they sell

lemonade stand. How many quarts

%i J_H—‘r{ = llo gE> | s e




